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% Tlumene kmitani
global br om
 
% parametry
m = 50      % hmotnost
k = 500     % tuhost pruziny
b = 50      % tlumeni
 
om=sqrt(k/m)        % vl. frekvence
br=b/(2*sqrt(k*m))  % pomerny utlum
 
y0=0.2      % pocatecni vychylka
y0dot=0     % pocatecni rychlost
 
t_konec=10  % delka simulace [s]
 
[t,y]=ode45(@model,[0 t_konec],[y0 y0dot]);   
plot(t,y(:,1));
xlabel('cas [s]');
ylabel('vychylka [m]');
grid on
 
% hodnoty odectene z grafu
% y(2.01)=0.073
% y(4)=0.0266
% T = 4 - 2.01
% theta = log(0.073/0.0266)
% b = 2*theta/T*m = 50.73
 
-------------------------------------------------------------------------
 
function dz=model(t,z)
 
global br om
 
dz=zeros(2,1);
dz(1)=z(2);
dz(2)=-2*br*om*z(2)-om^2*z(1);
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